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Derive 

A.   Operações  

(𝑢 + 𝑣)′ = 𝑢’ + 𝑣’ 

(𝑢. 𝑣)′ = 𝑢. 𝑣′ + 𝑣. 𝑢′ 

(𝑢𝑛)′ = 𝑛. 𝑢𝑛−1. 𝑢′ 

(𝑢𝑣)′ = 𝑣. 𝑢𝑛−1. 𝑢′ + 𝑢𝑣 . ln(𝑢). 

(
𝑢

𝑣
)

′

=
𝑢′𝑣 − 𝑣′𝑢

𝑣2
 

[(𝑢 ∘ 𝑣)(𝑥)]′ = [𝑢(𝑣(𝑥))]′ 

= 𝑢′(𝑣(𝑥)). 𝑣′(𝑥) 

 
 
B.   Funções Usuais 
 

1. 𝑠𝑒𝑛 𝑢 ⇒ (𝑐𝑜𝑠 𝑢). 𝑢’ 

2. 𝑐𝑜𝑠 𝑢 ⇒ −(𝑠𝑒𝑛 𝑢). 𝑢’ 

3. tg 𝑢  ⇒ (sec2 𝑢). 𝑢′  

4. sec 𝑢  ⇒ (𝑠𝑒𝑐 𝑢. 𝑡𝑔 𝑢). 𝑢′ 

5. 𝑐𝑜𝑡𝑔 𝑢 ⇒ (− 𝑐𝑜𝑠𝑠𝑒𝑐2 𝑢). 𝑢′ 

6. 𝑐𝑜𝑠𝑠𝑒𝑐 𝑢 ⇒ (− 𝑐𝑜𝑠𝑠𝑒𝑐 𝑢 𝑐𝑜𝑡 𝑢). 𝑢’  

7. 𝑒𝑢 ⇒  𝑒𝑢 . 𝑢′ 

8. 𝑎𝑢 ⇒  𝑎𝑢. 𝑙𝑛(𝑎). 𝑢′ 

9. ln(𝑢) ⇒ 𝑢′ 𝑢⁄  

10. 𝑙𝑜𝑔𝑎(𝑢)  ⇒ (log𝑎 𝑒). 𝑢′ 𝑢⁄  

11. 𝑎𝑟𝑐𝑠𝑒𝑛(𝑢) ⇒
𝑢′

√1−𝑢2
 

12. 𝑎𝑟𝑐𝑐𝑜𝑠(𝑢) ⇒ −
𝑢′

√1−𝑢2
 

13. 𝑎𝑟𝑐𝑡𝑔(𝑢) ⇒
𝑢′

1+𝑢2 

14. 𝑎𝑟𝑐𝑐𝑜𝑡(𝑢) ⇒ −
𝑢′

1+𝑢2
 

15. 𝑎𝑟𝑐𝑠𝑒𝑐(𝑢) ⇒
𝑢′

|𝑢|√𝑢2−1
 

16. 𝑎𝑟𝑐𝑐𝑜𝑠𝑠𝑒𝑐(𝑢) ⇒ −
𝑢′

|𝑢|√𝑢2−1
 

 

 

 

Integre... 

C.   Operações  

∫ (𝑢 + 𝑣) = ∫ 𝑢 + ∫ 𝑣 

∫ 𝑢𝑛. 𝑑𝑢 =
𝑢𝑛+1

𝑛 + 1
+ 𝐶 

∫ 𝑢. 𝑣′ = 𝑢. 𝑣 − ∫ 𝑢′. 𝑣 

 
D.   Situações Usuais  

 

1. ∫
𝑑𝑢

𝑢
 ⇒ ln|𝑢| + 𝐶 

2. ∫ 𝑒𝑢𝑑𝑢  ⇒ eu + 𝐶 

3. ∫ 𝑎𝑢𝑑𝑢  ⇒ 
1

ln (𝑎)
∙ au + 𝐶 

4. ∫ 𝑎𝑢𝑑𝑢  ⇒ 
1

ln (𝑎)
∙ au + 𝐶 

5. ∫ 𝑠𝑒𝑛 𝑢. 𝑑𝑢 ⇒ − cos 𝑢 + 𝐶 

6. ∫ 𝑐𝑜𝑠 𝑢. 𝑑𝑢 ⇒ 𝑠𝑒𝑛 𝑢 + 𝐶 

7. ∫ 𝑡𝑔 𝑢. 𝑑𝑢 ⇒ ln| sec 𝑢| + 𝐶 

8. ∫ 𝑐𝑜𝑡𝑔 𝑢. 𝑑𝑢 ⇒ ln| sen 𝑢| + 𝐶 

9. ∫ 𝑠𝑒𝑐 𝑢. 𝑑𝑢 ⇒ ln|sec u + tg u| + C 

10. ∫ 𝑐𝑜𝑠𝑠𝑒𝑐 𝑢. 𝑑𝑢  ln|cossec u − cot u| + 𝐶 

11. ∫ 𝑠𝑒𝑐 𝑢. 𝑡𝑔 𝑢. 𝑑𝑢 = sec 𝑢+C 

12. ∫ 𝑐𝑜𝑠𝑠𝑒𝑐 𝑢. 𝑐𝑜𝑡 𝑢. 𝑑𝑢 = −𝑐𝑜𝑠𝑠𝑒𝑐 𝑢 

13. ∫
𝑑𝑢

𝑢2+𝑎2 =
1

𝑎
∙ 𝑎𝑟𝑐𝑡𝑔

𝑢

𝑎
+ 𝐶 

14. ∫
𝑑𝑢

√𝑎2−𝑢2
= 𝑎𝑟𝑐𝑠𝑒𝑛

𝑢

𝑎
+ 𝐶 

15. ∫
𝑑𝑢

√𝑢2±𝑎2
= ln |𝑢 + √𝑢2 ± 𝑎2| + 𝐶 

16. ∫
𝑑𝑢

√𝑢2−𝑎2
= ln|𝑢 + √𝑢2 − 𝑎2| + 𝐶 

 

 

 

 

 


